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2 g 3 A 246,174 86.1 258,581 | 92.3 | 287,402 | 90.7 ~4.8 A143
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2-1. S&HAl ofl&kH

(=]

=

B MHY-ME o MEHE (YU+EEH)

(chel - wigkel %)
= Z2U8(%
TE 2014kl = o = st 5 = Sy Eﬂ/%)cw
Al 285,925 H|g 280,176 = H|8 316,833 | H|g 2.1 N9.8
N g A 32,436 11.3 30,982  11.1 33,017  10.4 4.7 A8
Mo = 28,248 9.9 34,572 | 12.3 55,447 | 17.5 | A18.3 A49.1
A A 2149 21,017 7.4 19,946 7.1 19,263 6.1 5.4 9.1
AN A A 215 7,231 2.5 14,626 5.2 36,184 114 A50.6  ~80.0
U =TT A | 111,889 | 39.1 118,846  42.4 112,306 = 35.4 A5.9 A0.4
MAEEHF 6,829 2.4 5,488 2.0 8,259 2.6 24.4 | A17.3
o 2 = 3 93,561 32.7 90,288 @ 32.2 98,904 31.2 3.6 N5.4
EaRIA it 74,755  26.1 69,846 = 24.9 78,547 248 7.0 N4 .8
TH B EF 18,806 6.6 20,442 7.3 20,357 6.4 0.0 0.0
A & & S - - = - 8,900 2.8  #DIV/0! -
LEHM%# %!1%3' 12,962 4.5 - - - - #DIV/0! | #DIV/0!
Aotz Sy 27,405 9.6 21,203 7.6 32,406 10.2 29.3 | A15.4
SSEAM Yot 5,849 2.0 5,323 1.9 12,538 4.0 9.9 A53.3
ng 3,040 1.1 4,430 1.6 4,175 1.3 | A31.4 | A272
25talay 18,848 6.6 18,595 6.6 19,253 6.1 1.4 A2.1
SHRES 42,437 148 55,674 = 19.9 51,271  16.2 | A23.8  Al17.2
71 AtEISX| 74,823 | 26.2 64,835 @ 23.1 72,207  22.8 15.4 3.6
LB 9,090 3.2 6,067 2.2 6,362 2.0 49.8 42.9
S S 2ol 2k 4t 15,300 5.4 19,511 7.0 21,282 6.7 2216 N28.1
2 MeEATY 3,085 1.1 5772 2.1 6,323 2.0 A46.6  A51.2
Al SE5YNE 20,470 7.2 23,908 8.5 28,343 8.9 | Al44 | A27.8
TEYX| A7HL 11,961 4.2 6,738 2.4 13,551 4.3 0.0 0.0
- e s - - - - - - | #DIV/0! | #DIV/0!
= ofl by 2,696 0.9 2,864 1.0 428 0.1 A5.9 529.9
7| et 50,928 17.8 48,002 | 17.1 48,694 15.4 6.1 4.6
Q1 Z4H| 44,506 15.6 43,375 = 15.5 43,733  13.8 2.6 1.8
=74d| 23,947 8.4 25,016 8.9 25,826 8.2 N4.3 NT7.3
N daold 114,070  39.9 103,028  36.8 112,493 | 35.5 10.7 1.4
o FEXE 83,116 | 29.1 89,754 = 32.0 103,240 32.6 AT4 | A19.5
&l

XY EX} 171 0.1 172 0.1 171 0.1 A0.6 0.0
ERICFSPVET 6,704 2.3 14,470 5.2 22,779 7.2 | AB3.7 | AT70.6
L 5 A 24 8,925 3.1 3,071 1.1 3,317 1.0 190.6 169.1
ofe|H| 27| E} 4,484 1.6 4,036 1.4 5,274 1.7 11.1 A15.0
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O Ht3|A

(chel - sHorel %
HE Z=Z2t2(9

TE 20148 = o = R 5 = Eo*iEHHTEEI/;EHHI
AH 246,174 | H|E 258,581 Hl S 287,402 H|g A48 ~14.3
N g Al 32,436  13.2 30,982 12.0 33,017  11.5 4.7 A8
Ao = 15,631 6.3 14,353 5.6 28,882  10.0 8.9 | 2459
A A L1549 10,113 4.1 9,592 3.7 9,576 3.3 5.4 5.6
LA A A 2 5,518 2.2 4,761 1.8 19,306 6.7 15.9 AT1.4
NOA g m A 111,889  45.5 118,846  46.0 112,306 = 39.1 A5.9 A0.4
MAEENZF 6,829 2.8 5,488 2.1 8,259 2.9 24.4 | A17.3
o 2 = =3 79,389 32.2 88,912 | 34.4 96,038 | 33.4 | A10.7 | A17.3
Eam it 61,182 | 24.9 68,496 = 26.5 75,716 | 26.3 | A10.7 A19.2
TZH R EF 18,207 7.4 20,416 7.9 20,322 7.1 | A10.8 A10.4
A & M S = = = - 8,900 = 3.1 | #DIV/0! | A100.0
LEHB.: %’Ffﬁ = = = = - — | #DIV/0O! | #DIV/0!
Aot S 27,405 | 11.1 21,203 8.2 32,406  11.3 29.3  A15.4
S EM Yot 5,849 2.4 5,323 2.1 12,538 4.4 9.9  A533
ns 3,040 1.2 4,430 1.7 4,175 1.5 | A31.4 | A27.2
2332y 18,848 7.7 18,595 7.2 19,253 6.7 1.4 A2
lHES 17,381 7.1 39,548  15.3 34,381  12.0 = A56.1 N49.4
7| AEISX| 71,820 | 29.2 62,276 = 241 69,161 = 24.1 15.3 3.8
=T 9,090 3.7 6,067 2.3 6,362 2.2 49.8 42.9
6 SEol 4t 15,300 6.2 19,511 7.5 21,282 7.4 | A21.6 N28.1
E RPN R L 3,085 1.3 5,769 2.2 6,323 2.2 | N4B.5 A51.2
Al F=&UwE 18,883 7.7 22,414 8.7 26,742 9.3 | A15.8 N29.4
S EIX| et 5,637 2.3 6,152 2.4 8,991 3.1 AB.4 | AB37.3
- &7 s - - - - - - | #DIV/0! | #DIV/0!
= o] 2,476 1.0 2,644 1.0 208 0.1 AB.4 | 1,090.4
7| Et 47,359  19.2 44,649  17.3 45,580 15.9 6.1 3.9
bl 41,965 17.0 41,024 = 15.9 41,652  14.5 2.3 0.8
=24| 19,819 8.1 20,352 7.9 20,314 7.1 N2.6 N2.4
A daold 108,977  44.3 97,698 | 37.8 106,742 | 37.1 11.5 2.1
o MEXE 58,424 = 23.7 81,606  31.6 92,810 | 32.3 A28.4  A37.0
XL EX} - - - - - - | #DIV/0! | #DIv/0!
2 XNy 5587 2.3 12,246 4.7 21,228 | 7.4  A54.4  AT37
L2 el 8,925 3.6 3,011 1.2 3,261 1.1 196.4 173.7
oflH|H| 7| EF 2,476 1.0 2,644 1.0 1,395 0.5 NB.4 77.5
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O SE3A(IEHEIIY)

20134 £ ZU8(%
+ o2 20144 - o1 J = g-_#_EHtllEzl/—gE)EHtll

A 39,751 | H|g 21,595 | H[E 29,431  H|8 84.1 35.1
X8 A - - - - - - | #DIV/0!I  #DIV/0!
Moo = o 12,617 = 5.1 20,219 7.8 26,565 = 9.2 | A37.6 - 525
A A L1549 10,904 4.4 10,354 4.0 9,687 3.4 5.3 12.6

AA A A 9] 5= 1,713 0.7 9,865 3.8 16,878 5.9  A82.6 -89.9
MR g m R A - - - - - - | #DIV/O! = #DIV/0!
MEEAES - - - - - - | #DIV/O! = #DIV/0!

o 2= = 3 14,172 @ 5.8 1,376 0.5 2,866 1.0 = 929.9 394.5
I FT 13,573 5.5 1,350 0.5 2,831 1.0 905.4 379.4
CHH T 599 0.2 26 0.0 35 0.0 22038 1,611.4
NN S - - - - - - | #DIV/O! = #DIV/0!
iﬁg%’*%fﬁ 12,962 = 5.3 - - - - | #DIV/O! = #DIV/0!
Sl B - - - - - - | #DIV/O!  #DIV/O!
SSEMY oA - - - - - - #DIV/0I  #DIV/0!

g - - - - - - #DIV/OI  #DIV/0!
2sly s - - - - - - | #DIV/O!  #DIV/0!
ARG 25,056 = 10.2 16,126 6.2 16,890 5.9 55.4 48.3

71 ALEISX| 3,003 1.2 2,559 1.0 3,046 1.1 17.4 A4
. = - - - - - - | #DIV/O!  #DIV/0!
T ssess - - - - - — | #DIV/O!  #DIV/O!
2 M EATY - - 3 0.0 - - 100.0  #DIV/O!
A = mE 1,587 0.6 1,494 0.6 1,601 0.6 6.2 A0.9
= EUX| |t 6,324 2.6 586 0.2 4560 1.6 979.2 38.7

- 5| & - - - - - - | #DIV/O!  #DIV/0!
= I 220 0.1 220 0.1 220 0.1 - 0.0
7| Et 3,569 1.4 3,353 1.3 3,114 1.1 6.4 14.6

ol 7AH| 2,541 1.0 2,351 0.9 2,081 0.7 8.1 22.1
=ral] 4128 1.7 4,664 1.8 5512 1.9  A11.5  A251

A daold 5,093 2.1 5,330 2.1 5,751 2.0 N4 4 A11.4
o MExlE 24,692 10.0 8,148 3.2 10,430 3.6 = 203.0 136.7
SAIL &R} 171 0.1 172 0.1 171 0.1 A0.6 0.0

2 EXA 1,117 0.5 2,224 0.9 1,551 0.5  ~49.8  A28.0
L 5724 - 60 0.0 56 0.0 A100.0 @ A100.0
ofH|H| 37| Ef 2,008 0.8 1,392 0.5 3,879 1.3 443 N48.2
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2-1. SSHA| =LA

ALOH
Aeisle ] 2014 of AkoH st
Ab g . SAtH] | 7| EX}
(AtZ12H) LN
Al =H]| Ed| | AlZd] Z[Et
oD 1km,
=Sl g 3k &tz eIl 2km S 14,935 64 180 180 - - 14,691
(2013~2020)
SHOEER =270 d
(=3~ AL) L=18.6km, B=23m 5,771 3,578 1217 | 1,217 - - - 976
s R (2009~2015)
_ _ |:§7|.|/\-I
T 7sM gmr
?E*EH~Q74|) L=8.5km, B=20m 780 159 110 110 - - - 511
< - (2007~2016)
o 21
T 425 M =tmE
(845 24 ) < | L=17.4km, B=13m 829 - - - - - - 829
(2008~2017)
OO0 T H|AIY
(Thel @ eHatel)
2014 of AkoH -
od o — 1 SES
A Y NEAS saem Jisw 2T
(A1) A =s sl AlRe| ojg T
TAl AME SN S - -
im 2 FREAEMES 8,306 6,823 = 1,483 750 75 658 - -
=
o = 51 T ol A Lot AbeX| o HH|
=R =UN P =T N Sea (Bx|ofel)eT x| = 9,900 1,000 1,500 - 500 1,000 - 7,400
ol 2 A R Aa2E, HEAHE
2o} A2 (4.388m) 10,000 2240 | 5,500 | 1,900 | 570 3,030 - 2,260
. - . AERHEY BEHS
S5 gasiaty =7 ;fE' d S595 6,631 1,265 122 12 - 110 - 5,244
27l A A=t T2
AR (Le2.400m B=1.5m) 10,088 7,049 3,039 273 601 = 2,165 - -
MM B o gAY e =
(Mefste Mo ws) | ASAEAYESS 14,166 9,468 4,698 2,820 96 1,782 - -
a2 8 x| &y 71=20|F(338) & ~ _
(25 HTA AX|2) W0l 5 (24.302m) 20,540 5,500 2,300 1,500 800 12,740
S =X =AM Y
EfEE 2 -] JIZAIMEHH| S 6,800 5,214 1,586 593 - 993 - -
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AteiTh e ) 2014 of| &hot sts
Ay VIV TR R 2 e
A =H| | EH| A[ZH|| Z|E}

ﬁg%@i’éi”ﬁlg 1370 AR 20,130 5,037 1,750 - 400 1,350 - 13,343
_Diﬁj dgrese iifjg % BSEE 12,000 1,000 1,000 700 200 100 - 10,000
ol MUK HAY | BEI|BHAIMESE 15,796 -~ 650 500 150 - - | 15,146
igi ;j%ﬁ' = ;ﬁ?jﬂ%%) 7.350 5800 1,550 275 83 1176 16 -
jlg:j%ﬁ”" gk ﬁif’lg%j % 1,780 010 = 870 261 78 183 | 348 -
ﬁg%ﬁgalﬂﬁ g%;?mjimggsg) 6,407 | 2,190 = 4,217 | 1,500 300 1920 497 -
M f”g ;ﬁgﬁ iﬂ)i) 1,800 - 1770 700 60 510 500 30
st A ff;?mfimg%) 3,600 1,805 1,00 400 - 700 - 695
22?12%;:3&@ Q=55,000m' /& 24,857 10,484 2,484 1,911 573 - - 11,889
Shasm b AR ?ti?g f;ﬂ') 40,373 1,873 5,300 5300 - - - 33,200
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